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Problem: Can we improve Our method: Analogical prompting Results:
chain-of-thought prompting (CoT) for e Prompt language models to first e Analogical prompting
solving reasoning tasks? self-generate relevant exemplars or outperforms O-shot CoT and
knowledge in the context, and then manual few-shot CoT
Our inspiration: Analogical reasoning solve the given problem
— to solve new problems, humans draw Math problems Code generation
from relevant paSt eXperienceS (POlya (GSMB8K, GPT3.5) (Codeforces, GPT3.5 turbo)
2004) Analogical Prompting (Ours) 61.0%
54.0%
~—{_ Model Input 50.3%
Q: What is the area of the square with the four vertices at 15%
0-shot Few-shot CoT (-2,2), (2, -2), (-2, -6), and (-6, -2)? 0%
: 148% 8%
“Model Input ) @— # Instruction:
_______________________________________ X ## Recall relevant exemplars:
Q: What is the area of the square ! Q: Roger has 5 tennis balls. He | ## Solve the initial problem: 4 " ] i ’ - i
with the four vertices at (-2, 2), (2, ! buys 29more cans of tennis balls. Oshot OCS:TOt I:EvcvosThm \,I::j( Oshot OcS:TOt \,T,gﬁ(
-2), (-2, -6), and (-6, -2)? ! Each can has 3 tennis balls. How ; (Kojima+22)  (Wei+22) (Kojima+22)
{ many tennis balls does he have? ! / C Model Output N
A: Roger started with 5 balls. 2 | # Relevant exemplars: ~.
0-shot CoT ! cans of 3 balls each is 6 balls. ! Q: What is the area of the square with a side length of 5? m%—%%;ﬁ“gﬂs
! The answeris 5+ 6 = 11. : A: The area of a square is found by squaring the length of its to any formerly solved problem; but, if such a problem
Model Input ; : side. So, the area of this square is 52 = 25. ... H ow to ol ety I o e {nclhle T e slving
X s ; a problem, we always profit from previously solved prob-
G: Whatlo the fes OfthE SqUare | |- # Salve theIntalproblem: Solve |t e
2) (-2. -6) and (-6 g 7(_ bis Q: What is the area of the square To find the area of the square, we need to find the side R— problems from which we profit must be in some way
=22, D) sand |6, =21 with the four vertices at (-2, 2), (2, length. The length is .. \SQrt{(2 - (-2))"2 + (-2 - 2)A2} = mathematca method  Xelated to our present problem,. Hence the question: Do
 Think step by step. | -2), (-2, -6), and (-6, -2)? \sqrt{32}. So, the area of the square is (\sqrt{32)"2 = 32. " Ehere i wsualy no dificulty at all in recaling for

merly solved problems which are more or less related to
our present one. On the contrary, we may find too many
such problems and there may be difficulty in choosing a
useful one. We have to look around for closely related
problems; we LOOK AT THE UNKNOWN, or we look for a
formerly solved problem which is linked to our present
one by GENERALIZATION, SPECIALIZATION, OF ANALOGY.

G. POLYA

e Generic guidance of reasoning e Need labeled exemplars of reasoning o Exemplars are automatically generated /

and tailored to each problem



